BOR &N, LEBM - AEER-THETH
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g 10, 696 4,769 4,753 16 5, 846 5, 845
st 9,935 4,469 4,454 15 5, 389 5,388
BBt 761 300 299 1 457 457
NTIe] 4,339 1,796 1,792 4 2, 494 2, 494
S 1,121 696 694 2 424 424
FHE™H 547 240 239 1 306 306
J\IEE™ 188 90 89 1 98 98
EE™ 1,054 353 349 4 693 693
rusm 914 331 330 1 581 580
A 341 52 52 - 288 288
(Eidys] 243 92 92 - 150 150
MERMH 694 502 501 1 179 179
iyl 254 86 86 - 167 167
Rmm 240 231 230 1 9 9
8 33 26 26 - 7 7
AP &R 35 18 18 - 17 17
YNEIILi] 223 69 69 - 153 153
BEERET 143 64 63 1 78 78
AT 97 22 22 - 74 74
(Eiymliil] 55 12 12 - 42 42
INETL] 17 9 9 - 8 8
SRAvET 48 23 23 - 25 25
Era] 110 57 57 - 53 53
FE 694 502 501 1 179 179
HhiEErhR 1,968 684 679 5 1,274 1,273
SB 1,154 722 720 2 431 431
FaLl 5,223 2,270 2,264 6 2,901 2,901
)\ 935 262 261 1 669 669
FHS 722 329 328 1 392 392
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